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0 A aspiring B hopeful C wishful D expectant

1 A coundi B panel C meeting D range

2 A solid B exact C rigorous D stable

3 A overcome B outlast C undergo D uphold

4 A grind B attempt C duty D labour

5 A stock B store C view D supply

6 A put B shown C pushed D thrown

7 A promotion B contract C treaty g s'ettiement

8 A Id B jacket C cover sleeve /

“

Reading and Use of English - Part 4
Key word transformation

6, complete the second sentence so that it has a similar meaning to the first sentence, using the
i -0, CO i .
) gue'snonsD; not chapnge the word given. You must use between three and six words
word given.

0  Orders will probably increase around Christmas time.

likely

. v e-
Orders are likely to increase around Christmas tim

1 Graham has succeeded because of his original ideas.

due
Graham's  success
original.

his

ideas are

. ; the
2 As there is no evidence, the police will have to let

suspect go.
lack
The police will have to let the suspect go

evidence. 7
3 Why don't we meet next Saturday afternoon

getting

Li~asas

)
next Saturday afternoon:

4 He said that he was the long-lost son of a millionaire

shipping tycoon.
claimed .
L I et the long-lost son of a millionaire
shipping tycoon.
5 Jake turned up very late in the evening.
ance ‘
Ja pkpear very late in the evening.
ake i R G
6 All things considered, James didn’t do too badly in his A
levels.
e James didn't do too badly
WHEN 1vevverreerieiresisionees :
in his A levels.



